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e et gferet |
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10.

AN

it T B 3 g W1E, AT W v gferen 6 ugare v w o e et e R o,

T TT T AT S AT WA i W W | afd Qe , o o wlt wdheror gfevn & www & |

Foar @ s OMR e # Ifa v w I TR AR wderor giewe s A, B,

CuTD = T ¥ wE faren Rt w wn Rl F w1 3R Fewg =@ A el sefigar

£ ¢ | et s vEr N gw /Fenfy B Raf § s fom w Ran s |

T T gt o A 3 fiu g e # et s

s forae @ | wlem g Rtk o A fod |

v e gfew # 125 wwiw (ve) Re g € | s wei fed sk stdeh A1 F o # |

W W # TR TR (SW) o g ¥ | v ¥ @ v F W A, B a9 Sw-wsE W

siftra e wea € | AR et Y o F uw A ot g W €, @ 9w v @ sife R

N IRt FET W | 4w G F e e v € W 39 R

T T Tl TR e & Ry g I-wrs W sifa w € | Sw-ws # fog e v )

wsft w6 o wHE R |

TR v 5 o e gfemn ¥ Rftm vl 3 o ST W R R gE wW, s

AT THO-97 % wra W SRyt & AR 59 frewor sw-wrw # 37 E |

AT R T HGER Y SR F A F G T TR 3 FHIA T AR IR -TE Al

g ¥ | e s A e gt & 9 6 Al R |

Foy FW & forg v, wie gferm & s # e € )

wegfres wya-wst # gefigar g Ry g e swdt ¥ g gve fea s o

() v e % forg wR A5 s ¥ | Inficar gr1 v v 3 forg Ry g o wew swE
forg we ¥g Fraa T g st o e - fergrd gus & w9 3 = S |

Gi) af o Il uw A sifte SeR 3 R, @ 0w Swewmn S, Ty g T e # @
wF I a8 o 2, AR st 98 v 3 forg srfger @ S ate @ gve fean s |

(i) A IEhear Ry #E W v T R st R, sratq Ieficar g SR @ R s @, @
w8 v % forg g que et foan s |

WE T ATTH! TE TAEVT YIersT @A T 7 HeT Y ad aF 7 @t

Note : English version of the instructions is printed on the back cover of this Booklet.



1. YRd & HergEEre & 9r # fafafea
# W W w7

(a) FRNIEETGT & HEE % oAl A
e o ARHER B

(b) HEFIEETY & AU FHEEAE
Fdeqt & e[ § WA & Tod8T §
st et # gears w0 after
TR

(c) 9@ # F@ rgarg gt wifed W
JAaq AT 6 Tk AT
T4 & foru srews Bt €

(d) T8 T@R & fou = qiwfos
wadferar (F6989) &

2. faam-vieat # 0@ A 31T AT YT &
ey ¥ Frafifes et w fER
#ifg .

1. ¥ FAEES AEAG Hed &
el ¥ wEfET B £ 3R 10
foAt @ =0 & few w® Aifkes s
& fore 9@ o e €

2. 9 gIEM WE e .ﬁﬁz‘r Eil
- wEa § ol wrafRa et SHe s
W % fog wema @

3. §q AT UF UFHA & GRE
98 T §

SIYH H W A A I T 7
(@ 1,23KR3

(b) Haw 1 3R 2

(c) Haw 23R 3

(d) Fae 133
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3. 665 R U9 fum-deal & gewt &
fdar & ey # wra & dfeam
10 < st & weft feafafea # 3
I |1 FT ge TR & 7
(a) gt aftrela et § f%

Tratfaa wew go-sga & smuR w|
orfEa fordt < v €
© (b) TH-E F IR R frEa g
it oo | faeg & wmat |
HRL el Bt ©

(c) far & wme w=fRa w7 &

gl @ wheR gr fafe Ry
ST €

(d) S AW FEIR ed §, S A

WRd &1 Soaa9 g A

foaras orar @

4. gt IR sdegat & frafafea gt
A H 91/8 W gt gaferd & /8 ?
L.TE g 2 A @R 3R
=gl
2. |9 gl : AR,
eftme 3k
E e
3. guad gt ;. faftes, fafecdia
3R I ™

A fou g Fe F oW R @ IW
ﬁﬁn:

(a) et

(b) 1,23R3

(c) et 2 3R 3

(d) Faa3




1. Which one of the following statements
about the Attorney-General of India is
NOT correct ?

(a) He shall have the right to speak in
the Houses of Parliament

(b) He shall have a right of audience
in all Courts in the territory of
India in the performance of his
official duties

(c) He must have the same qualifica-
tions as are required to be a Judge
of the Supreme Court

(d) He is a whole-time counsel for the

Government

. Consider the following statements
relating to short notice questions asked
in the Legislature :

1. These relate to matters of urgent
public importance and can be
asked for oral answer at a notice
less than 10 days

2. Short notice questions can be
admissible if the Minister con-
cerned agrees to answer to it

3. Short notice questions are asked
during question hour

Which of the statements given above
are correct ? '

(@) 1,2 and 3
(b) 1 and 2 only
(c) 2 and 3 only

(d) 1 and 3 only
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3. Which one. of the following is NOT

true of the 10th schedule of the
Constitution of India pertaining to
disqualification of members of the
Parliament and State legislatures ?

(a) The schedule lays down that
elected members may be
. disqualified on the grounds of
defection

(b) Disqualification on ground of
defection does not apply in cases
of merger with another political

party

(c) Cases of dispute are decided by
the speaker or Chairman of the
House concerned

(d) The Supreme Court of India is the
final arbiter in cases which remain
unresolved

. Which of the following pairs of list

and contents is/are correctly maiched ?

Public health
and sanitation

1. State list

2. Union list Citizenship,
naturalisation
and aliens

3. Concurrent Legal, medical

list and other
professions

Select the correct answer using the
code given below :

(a) 1 only
® 1,2and3
(c) 2 and 3 only
(d) 3 only

A — GHY-F-BST



5. frftRm A ER & 2

(a) sﬁargﬁﬁaﬁﬁm@m%qﬁ
it & S

(b) Shameit # wrdewifRar dar @
vy foraogett % 7t S

(c) Frempi ¥ et o @
g St # g S

(d) FrempEi # o Fifte el O
® weg Sframopet F et

.afe feht ifie & W13 ok SufRm
e Y WigdT HVET ¥ AYETHT
aftes &, T FrefRm d s @

HeAT BN ?

(a) R St IR0 =

(b) =iy 6 gg & S

(c) =¥ ufadw =g g

(d) = s = @ o

. GG gl wfeRe (RER) & T
et @ dE R I8 geed feard
R | W wae w Frafafea & R

Sfir % 9 B A e Rard
27

(a) TRE &5
(b) 7w

(c) wTEEIE™
(d) TE=ErEw
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qreat #, @ IR et fit wrd # gy
BN H HROT B ‘

(a) wed fawegiae
(b) sl fawsaras
(c) thrfer o=

(@) fidfias gfg
.Ueq Hifyreeet #, ehify sk werar

s Em R g ?
(a) TEEEH

'(b)mszh'ﬁ%m

10.

11.

(c) TSIt Iqaur

(d) =firEm @ ¥ W aeh
wemﬁlml%

(a) T

(b) affer &

(c) afdfamr &

(d) TR #

gEE wiem & fewm & e,

Tt SeaTe wem # v afteTfe =g
¥ et FR 6 FHEa wgen B

& 9 5 & e o1 6 wrwst |

R war @, & @ W farg e @
o & ®

(a) Hia wfy &9 o STwh
(b) 3haa gy =7 B sTwh
(c) I IATE FH | STwn
(d) Hwiq SeTg g STEm



5. Which one of the following statements

is correct ?

(a) Bacteria contain cytoplasm but
- viruses do not

(b) Bacteria contain mitochondria but
viruses do not

(c) Viruses contain mitochondria but
bacteria do not

(d) Viruses have a cell membrane but
bacteria do not .

. Which one of the following will
happen if the medium surrounding the
cell has a higher concentration than the
cell ?
" (a) The cell will gain water

(b) The cell will die
(c) There will be no change

(d) The cell will lose water

. Rough endoplasmic reticulum (RER)
looks rough under the microscope
because of the attachment of which

one of following cell organelles to its
surface ?

(a) Centrioles
(b) Plastids
(c) Lysosomes

(d) Ribosomes

https://sarkarinaukrieasyalert.com/

8. The increase in length of stems and

roots in plants is due to

(a) lateral meristem

_(b) intercalary meristem

(c) apical meristem

(d) secondary growth

. In plant cells, the turgidity and rigidity

is provided by
(a) ribosomes
(b) mitochondria

(c) golgi apparatus

- (d) vacuoles full of cell sap

10.

i §

Pollens are produced in

(a) Corolla -

(b) Style

(c) Stigma

(d) Anther

According to the Law of Diminishing
Returns, in a production function when
more and more units of the variable
factor are used, holding the quantities

of a fixed factor constant, a point is
reached beyond which

(a) the marginal revenue will diminish
(b) the average revenue will diminish

(¢) the marginal product will diminish

(d) the marginal product will increase

A — GHY-F-BST
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12.

13.

- 14

freffa 3 & v wE R 2

(a) ws i wfarht ot & sitaa
T 3R wwia Gy 9 ol
AGR B §

(b) et wwifter = &1 g
oty o5k SHeh siaa gwifir =% |
SR BT &

(c) FdanTeaT Us wiearht & amg
N B AT ®

(d) arTEE #, USifteR W @

dia o s ARE, e
Froar ferR (3rR) & waar @

mﬁ%maﬁﬁﬁ(ﬁﬁm
senfeefidt artw femi) & arcd &

(a) FWa & S 3o W afeds &, 7

# foergper aftada @i gan

(b) &g # U BI¢ Radq |, @ A
T Blel IR el @

(c) Hrra # T B giada |, 7rr &
s T aRads e &

(d) e ¥ us =8 qReds w, w7 #
T BT IiEde grar

A hf fs Rl e B dee

90 T9Y & FgAR 110 T B ST © 3R

 HW 95 gg qutan ¢ o Al et Ao #§

I GIE 240 THE A 160 THE & | 7,
Hiwt i Fiwa A I TR

(a) 1-0

(b) 2-4

(c) 05

(d) 2-0
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15. feredt e =1 =1 ster 24% = Wiy

16.

17.

18.

7§ B, | aafds = ) |1 enl,
Tfe gerehify $ w 10% & ?

(a) 240%

(b) 34%

(c) 14%

(d) 4%

frafafea & @ frar g fafe (ws

fofe) s A smrsmar g ?

(a) AdTE '

(b) THTe

(c) wiHfeegrss

() ufrfeerrse |

frafifaa & A 3 @1 uw, foew o

I wefifa =gl wem ?

(a) m%mw,ﬁ&aﬁmg&n
Hieh ITa

(b) AL F @

(c) v & @ fufda qu it 39 ¢

(d) w2 (W) faemm

fft w & gaw (g W) & fg

watftes sge staedr, faafafea & @
A R 7

(a) fm= q@ otk S== Qe
(b) =1 T 3R o aome
(c) S=9 T¥ 3K I=9 a9
(d) ¥=3 g 3R =1 amE=
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12. Which one of the following is NOT 15. What is the real interest rate on a

correct ?

(a) The Average Revenue and
Marginal Revenue curves of a
perfectly competitive firm are
perfectly elastic

(b) The Marginal Revenue curve of
the monopoly firm is above its
Average Revenue curve

(c) In the long-run, a competitive firm
earns only normal profits

(d) In equilibrium, the Marginal Cost
Curve of the monopoly firm may
be rising, falling or constant

13. Zero price elasticity of demand means

(a) whatever the change in price,
there is absolutely no change in
demand

(b) for a small change in price, there
is a small change in demand

(c) for a small change in price, there
is a large change in demand

(d) for a large change in price, there is
a small change in demand

14. Suppose that the price of a commodity

increases from ¥ 90 to ¥ 110 and
the demand curve shows that the
corresponding reduction in quantity
demanded is from 240 units to 160
units. Then, the coefficient of the price
elasticity of demand will be

(a 1-0
() 24
(c) 05
(d 20

Credit Card loan bearing 24% interest
per year, if the rate of inflation is
10% ?

(a) 240%
(b) 34%
(c) 14%
@) 4%

16. Which one of the following is known

as Wood Spirit ?
(a) Methanol

(b) Ethanol

(c) Formaldehyde
(d) Acetaldehyde

17. Which one of the following will NOT

show Tyndall effect ?

(a) Chalk powder freshly mixed with
water

(b) Lime juice
(c) Few drops of milk mixed with
water

(d) Starch solution

18. Which of the following are the most

favourable conditions for liquefying a
gas ?

(a) Low pressure and high tempera-
ture

(b) Low pressure and low temperature

(c) High pressure and high tempera-
ture

(d) High pressure and low tempera-
ture

A — GHY-F-BST




19. tgfafam, e, aw sk s feed
Frefa for sma € 2
(a) HAN: SIS, Mese, AR
IR SowTe |
(b) THN: AUTZE, FHAEE, AATRISE
3R T | .
(c) FWW: herATed, Aerehize, AdeTEE
3R FeEEe |
(d) s AerErse, Hierse, ST
. IR FoEEA A
20. Frafafea # & /e ¥ COOH @i =t
BT R ? ' ;
(a) Tifess s
(b) wfFes =
(c) el st
(d) VEHifdes st

21. Qrer-3r Al d gar g

(c) o= s 3R Aifeaw FEe
EIRCEeC)

(d) TemRe e R IRfiew FEHe
w1 foergm ,

22. Freafafea & @ <9, s weu= 3=
(HeHT) & weftr wgh ar ?
(a) T fafdme |
(b) TSR =l
(c) HAUEIH JeciTg @i
@ e
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23. wia fie & wR § FeafuRea & ¥ 9
|1 /A FA T A8 g /% ?
1. W foe wamER =R @
worTfaa &
2.3 fogrm awfree Rufm
@iy ¥ wem & '
3. aftes ¥ st o @ ARY ¥

W@ ¥ W e ¥ 1929 ¥ &g
forermraw F s\ S

T g T g W o Wl sw
(a) 133
(b) 233
(c) Hae2
(d) ae 3

24, $vazg fommanr & sR #§ feafafea &

| I A1 /A T e A R/R ?

1. FeemarR & d@a 3 e ae &
forerre & Seoratg weg @ '

2. S Sl & Y wow ¥
“femar’ &t safy fieft

3. faat i firen & yoR A AR I
SEd ITIE Al

4, YHUT GG 9HYA & 9R | few
T fom foemamR 3 fagan fame
&1 wwde T

% fou T Fe W wER W EE SW

gfr

(a) 23R4

(b) 132

(c) 9 4

) 3



19. Aluminium, Iron, Copper and Zinc are

extracted from

(a) Bauxite, Magnetite, Malachite and
Calamine respectively

- (b) Magnetite, Bauxite, Malachite and
Calamine respectively

(c) Calamine, Malachite, Magnetite
and Bauxite respectively

(d) Malachite, Magnetite, Bauxite and
Calamine respectively

20. Which one of the following does NOT

contain COOH group ?
(a) Citric acid

(b) Lactic acid

(c) Tartaric acid

(d) Ascorbic acid

21. The Soda-acid fire extinguisher con-
tains

(a) sulphuric acid and solution of
sodium hydrogencarbonate

(b) nitric acid and solution of sodium
hydrogencarbonate

(c) sulphuric acid and solution of
sodium carbonate

(d) sulphuric acid and solution of
potassium carbonate

22. Who among the following was NOT
associated with the Kakori Conspiracy
Case ?

(a) Ramprasad Bismil
(b) Rajendra Lahiri
(c) Ashfaqulla Khan
(d) Surya Sen
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23. Which of the following statements

about Bhagat Singh is/are NOT true ?

1. Bhagat Singh was influenced by
socialist ideas

2. He was a member of the
Hindustan Socialist Republican
Association

3. Bhagat Singh threw a bomb in the
Central Legislative Assembly in
1929 with the objective to kill
as many people as possible

Select the correct answer using the
code given below :

(a) 1and3
(b) 2 and 3
(c) 2 only
(d) 3 only

24. Which of the following statements

about Ishwarchandra Vidyasagar is/are
NOT correct ?

1. Vidyasagar’s writings significantly
helped to develop the Bengali
language

2. He received the title ‘Vidyasagar’
from Presidency College, Kolkata

3. He was enthusiastic about the
spread of women’s education

4, Vidyasagar defended widow
marriage without being convinced
about scriptural support

Select the correct answer using the
code given below :

() 2 and 4
(b) 1 and 2
(c) 4 only
@ 3

A — GHY-F-BST
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25, Sfe@iaeEm s & W R OH
fFeafafea & @ @9 w/3 F9 @@
g/8?

1. Siferatarerem # @1 7 fech Hie
R et =TS

2. U1 A SR & FA & e |

3. et vy ¥ TR A X AW
ot e B A w6 A

¥ oy T Fe = W@ W T SN
e :

(@) Fad 1

(b) Faer 1 3R 2
(c) 1,233
(d) Fasr 23R 3

26. WRa frafew sma gry atex aftwoee
YR Mfee 3 (VVPAT) WOITelt T SaRT
eell 9K el fomam a1 ?

l(a) St WK famam e e,
I

(b) NFea foumew et @,
AR

(c) wrgar T fratsw &=, Mar

(d) e faamaw fefw @,
AR
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27.We A% a5 WganE-2019 (fawa
G h FAEAT-2019) W TG T
ST HIY (UNFPA) TR1 Waifira
e Raid & fowg-awg &1 797 @@
g7

() TE o : foleRE ¥ O
TECH 3 TA T TR FAHferer
(b) T R 3w w=zE . Rl
TECH T g SHfha gifaw
(c) FAfwfye fasmw —aqﬁzaﬁqa
U3H Ug 1589 BR AT
(d) TS IR TR ¥ st g
we fu foasfe o

a§ 2018 & forw feafofe & @
TE G REha o 7

(a) . fimm 3§
(b) FETEAER &
(c) UGHT HeE
(d) Ty avrwg

28.

29. ‘Foe T, @ T @ # GI &

Ffen g, e R o frm § | TR B
W R ? '

(a) ST =TT
(b) =fft sfifeam
(c) Hiell, FERTE
(d) Feh, Ier



25. Which among the following statements

about the Jallianwala bagh massacre
is/are correct ?

1. In Jallianwala bagh troops open.ed
fire upon an unarmed crowd

2. The troops were under the
command of General Dyer

3. The troops did not issue any
waming to the people before
opening fire

Select the correct answer using the
code given below :

(@) 1only
(b) 1 and 2 only
(¢).1,2 and 3

(d) 2 and 3 only

26. The Voter Verifiable Paper Audit Trail

(VVPAT) system was used for the first
time by the Election Commission of
India in i

(a) North Paravur Assembly Con-
stituency, Kerala

(b) Noksen Assembly Constituency,
Nagaland

(c) Mapusa Assembly Constituency,
Goa

(d) Nambol Assembly Constituency,
Manipur

11

28. Who among the
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27. Name the theme of the annual report
~ published by the United Nations -

Population Fund (UNFPA) on State of
World Population — 2019.

(a) Worlds apart : Reproductive health
and rights in an age of inequality

(b) The power of choice : Reproduc-
tive rights and the demographic
transition

(¢) Unfinished business — the pursuit
of rights and choices for all

(d) How our future depends on a girl
at this decisive age

_ following was
awarded Saraswati Samman for the
year 2018 ?

(a) K Siva Reddy
(b) Mahabaleshwar Sail
(c) Padma Sachdev

(d) Sitanshu Yashaschandra

29. ‘Kandhamal Haldi’, which received GI

tag recently, is a variety of turmeric
indigenous to

(a) North Bengal

(b) Southern Odisha
(c) Sangli, Maﬁarashtra
(d)l Alleppey, Kerala

A — GHY-F-BST
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30. ST Hedl fohe 2W o1 warew @

31.

(Refaferar) s & 2
(a) UTfrEa™
(b) & RS
(c) T I I

(d) F®

Wi g Fqeed aon forelt ffea wmemm
# | TER 8, O S99 W # g€ ¥ I
T IR (FERa) e areh afir @

(a) Fae wrEeAw w1 e
(b) Fad i
(c) WM & uerd 3R It Qe

(@) I R F A T

- 32.

33.

T Rfaw-235 & iy #§ =ggAt @
we ot et ® 2

(a) 235
(b) 92
(c) 143
(d) 51
T FeE A @ & ger fomdt oda
R 5m/s B R A IR A AR TmE

® 13R 3000 @ F wfs & Iw@W @
e &, @ 99 W R a@ wmman w2
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34.

35.

36.

(a) SON
(b) 100N
(c) 600N

(d) 15000 N

et @ TEdm @ F R
Frafrfa A a mradt i & 2

(a) ST TF=HT T oIl qAT G
& T SRl ©

) ¥ge g i @ g
wrafda fomar s @enar 2

(c) YT Frerhia T HgeeA et R

(d) RE T=HET T@ F ERO R
e qiad Iga a9 e
&t RT Bt @

fraffea % ¥ @ @, w A
Tl T e 7

(a) S T

(b) e wn

(c) =fa

(@) g T

TR F T0H H IR0

(a) WY T SAfereReor

(b) Wy &1 A

(c) WIS g |

(d) WehTYT ol QUf SATaRes aXraet
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30.

31.

32.

33.

Zayed Medal is the top civilian honour
of

(a) Pakistan
(b) Saudi Arabia
(¢) United Arab Emirates

(d) Qatar

When a longitudinal wave moves

through a certain medium, the quantity

which is transmitted through the
medium is

(a) material of the medium only
(b) energy only

(c) both material of the medium and
energy

(d) none of the abdve

The number of neutrons inside the
nucleus of the element Uranium-235 is

(a) 235
(b) 92
(c) 143

(d). 51

A snowboard pulled up by a tow rope
travels at the rate of 5 m/s up a
mountain. If 3000 watt of power is
used, what force was applied to it ?

13

35.

' 36.

(@) 50N
(b) 100 N

(c) 600 N

(d) 15000 N

. Which one of the following is NOT

true for an electromagnetic wave ?

(a) Electromagnetic wave transports
energy and momentum

(b) Electromagnetic wave can be
polarized and reflected

(c) Electromagnetic wave is longi-
tudinal

(d) Electromagnetic wave propaga-

tion is described by the varying
electric and magnetic fields

Which one of the following is NOT an
electromagnetic wave ?

(a) Light wave
(b) Radio wave
(c) Sound wave

(d) Micro wave

Brilliance of diamond is due to
(a) interference of light

(b) diffraction of light

- (c) polarization of light

(d) total internal reflection of light

A — GHY-F-BST
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38.

39.

@t Ht T /7 st /% 2

1. 9gaR afyr & SR ATheraH
ATYH STHT 30°C B

2. @ 100 fert 6t qurdia safy

3. goreht faat srar Wit qie T

I R T Fe & W W aE SW
g :

(@) 1,23%R3
(b) a1 3R 2
(c) ¥« 23R 3
(d) a1

TR daa, fore 3w ¥ R @ 2
(a) wferem

®)

(c) WRa

(d) et

WRA WG & IaC-9ivadl R

HEAHEET & UH fowe ¥ A
Rafda & war ar

(a) Brevw =eq & aa &

(b) ferevrs oo & weg &

(c) Ty ooq & sRw & '
(d) forewra =vea it Tl srafy &

GHY-F-BST - A

14

40. 9% I wem n ¥ ® fed fog

41.

42.

3°+312+ 315+ 37 wwh piden & &
oo o (FE) ? ?

(a) 10

(b) 11
(c) 13

(d) 14

AR & 39 R o i F aRew @A
&, @&

(a) SH EAH ST

(b) TT N BAR W & SABA 4 AR
3 :

(c) o T &R I & Ehe & Afern
, A S
(d) 99 & SR N & SAGA H o

T &

TlﬁFhﬁTQ RtyE=1;
w+12=1 3R
xu+yv=0'§,7:ﬁ

1. 2 +u?=1
2. Y +vi=]

3. xy+uv=0

I A § @ A /@ w2/
(a) Fae 3

(b) ae 1 3R 2

(c) 1,233

(d) Fae2 33




37. Which of the following conditions

is/are essential for wheat cult_ivation ?

1. Optimum temperature during
growing period is around 30°C

2. A frost-free period of about
100 days

3 Light clay or heavy loam soil

Select the correct answer using the
code given below :

(@ 1,2 and 3
() 1 and 2 only
(¢) 2 and 3 only

(d 1 only

38. Gwadar port is located in |
(a) Pakistan

() Iran

(c) India

(d) Sri Lanka

39. North-west part of the Indian peninsula

was converted into a great centre of
vulcanicity in

(a) the end of Cretaceous period
(b) the mid of Cretaceous period
(c) the start of Cretaceous period

(d) the whole of Cretaceous period

15

40.

41.
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What is the natural number n for which
3%+ 3124315+ 37 is a perfect cube of
an integer ?

(a) 10

(b) 11

_(c) 13

(d 14

If a circle and a square have the same
perimeter, then

(a) their areas are equal

(b) the area of the circle is greater
than the area of the square

() the area of the square is greater

42.

than the area of circle

(d) the area of the circle is two times
the area of the square .

Let X2 +y*=1;
#+v*=1 and
" xu+yv=0, then
L 2+u?=1
2. 2 +v2=1
3.x3:+#v%0
Which of the above is/are true ?
(a) 3 only
(b) 1 and 2 only
(c) 1,2 and 3

(d) 2 and 3 only

A — GHY-F-BST
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43.

g af (o af H SgR) & v
fem R a1, o= s@ af = afw
i |7 a1 ?

(a) "FER

O (b) PR

44.

45.

© yfErR
(d) =¥ & =

A TR & 3R 10 W 3R Tl R
10 WX F@@ B | TUE TAF oK
Foft St AR ggaR q® T 5, 15
AR 15 WX o B | I q© W
aife g @ TR g @ 2

(a) 55 #Hix

(b) 23 MR

(c) 5 H®

(d) = F ¥ R} 7

T & Aifa & fews T #,

| Frfee 3 & o o g A 7

46.

(a) & 9= &1, frem @ sk =i
AEel H oWl gerar 9 &
SR

(b) -miReRt F forg v Rifder dfean

(c) =muiferr w1 wEuferer @
PRECTU

(d) WHE @I F  WEE H
wHHRI T wEfeR)

Frafafes # & fra Ao /wf@es &
FTER UorE AR A F fwem @
wafta fofg = =gt B g -

foram wwelt & HeEt & HaeE % U

R ferar ST ar ?

GHY-F-BST - A

16

47.

(a) weE fard

(b) Tor firym ==
(c) wafer Rad
(d) ' ATSvesed W

AF9 IR & Gy AeREl g ¥

R # frafafea & & 7 @1/8 ==

e R/E

1. 98 W 99 & AR 1 3R a=ar
21

2. MERATET G ATHS IR
FAERTHS fasasi & a5
Bsel |

= @ W e & W W ' W

(a) a1

(b) Hhad 2

.(c) 1 3R 2t

48.

d TAL,AE2

T # Hifa & ey o & werg &
Freafafaa & & @9 @ =u= v =@
?7? S
(a) 7@ & Hifr & fRvw o= @
qed T WATEA % AT &
wrg-arg & fmir # oft wom
®) T & Ay F fRvw =
e w@fdum % e T ¥
2 T w3 & .
(c) T &% wex Foarg Hi farfy #F g
& Hif & few T@, ™
AR W 3T W
d T @it Ay F fews o=
et § yadg w6l §




43. If the first day of the year (other than

 the leap year) was Sunday, then which
was the last day of that year ?

(a) Monday
(b) Sunday
(c) Saturday
(d) None of these

44. A walks 10 metres in. front and 10

 metres to the right. Then every time
turning to his left he walks 5, 15 and
15 metres respectively. How far is he
now from his starting point ?

(a) 55 metres
(b) 23 metres
(c) 5 metres
(d) None of these

. Which of the following is NOT
provided for under the Directive
Principles of State Policy ?

ta) Right to work, to education and to
public assistance in certain cases

Uniform Civil Code for the citi-
zens

(b)

(c) Separation of Judiciary from

executive

(d) Participation of workers in the
management of local-self govern-

ment

According to which one of the
following plans/reports, the decision
with regard to the partition of Punjab
and Bengal was to be taken on the
basis of voting of the Members of the
respective Legislative Assemblies ?

17
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48.
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(a) Nehru report

(b) Cripps mission plan
(c) ‘ Beveridge report
(d) Mountbatten plan

Which of the following statements
about Max Weber’s ideal theory of
Bureaucracy is/are correct ?

1. It refers to the dominant class
character.

2. Bureaucracy is associated with
structural and behavioral charac-
teristics.

Select the correct answer using the
code given below :

(a) _1 only

(b) 2 only
(¢) Both 1 and 2

(d) Neither 1 nor 2

Which one of the following statements
regarding the Directive Principles of
State Policy is NOT correct ?

(a) State shall follow the Directive:
Principles of State Policy both
in the matter of administration
as well as in the making of laws

(b) The Directive Principles of State

" Policy embody the object of

the State under the republican

Constitution

(c) The Directive Principles of State
Policy have precedence over the
Fundamental Rights in case of

conflict between the two

(d) The Directive Principles of State
Policy are not enforceable in the

Courts

A — GHY-F-BST
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49. IGR e & qRefYa = arelt

ey, Frafofe #§ & < @ € 2

1. wifeofs  w@R s,
wma: faftes, fraat @ sneanfa
Tt 8 ‘

2. INIRSE  @aaaradl 3R aafee
FftreRt it weamfa B @

3. I8 eiHifas WifteR &, a99q:
seifim wfts & vy Rk =
?

T W W W W ad s
(a) Fae 133

(b) Faet 132

(c) *Faw2 3R 3

@@ 1,23R3

50. FiEIHEe QY FEl W I F fu

51.

HTE B € ?
(a) W SHER ®&FE #

(b) =g AraTER #
(c) U araraR §

(d) afsra SaremEE amar J

frafafea & @ @ @1 e diadta

(FrsRfan) ¥ gt @ 2

(a) wfar iR a5 quiiy

(b) ®HGI SrerETERr SR TR FRe
(c) T AR @) afE
(d) =T AR ATIHIA

GHY-F-BST - A
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52.

53,

54.

fomelt e % T w1 T R AR T
s fore @ wefta @ 7

(a) WHRITIHA

(b) EFTCHS WehHIATIadA

(c) HUMTCHE WA

(d) Sftrrforar

qed W51 i STl SRR et
AN T R wgrh € 2
(a) TF '

(b) I T

(c) sag=H

d) U

T qE-fage wrd ¥ w1 # sy

(THfew) =9 &9 & Wy frar wman
?lza A e R 2

(a) Hg
(b) Si
(c) Ti

- (d) Sn

58.

v Jeamu & forg fFeafofea # & =0
wgeh T s @ 2

(a) Mg(HCO3),
(b) Na,PO,
(¢) NagPsOg
(d) Na,HPO,
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49, Which of the following are the

50.

-4 1

defining features of liberal demo-
cracy ?

1. Constitutional government based
on formal, usually legal, rules .

2. Guarantees of civil liberties and
individual rights

3. It invests political authority with
potentially unlimited power

Select the correct answer using the
code given below :

(a) 1 and 3 only
(b) 1 and 2 only
(c) 2 and 3 only

(d 1,2 and3

Phreatophytes are the plants adapted
to grow in

(@)
(b)
(©)
(d

moist shaded places
rocky environments
arid environments

active volcanic lava

Which of the following organisms
belongs to Coelenterata (Cnidaria) ?

(a) Planaria and liverfluke
(b) Sea urchin and sea cucumber
(c) Hydra and sea anemone

(d) Euplectella and sycon

19-

52. Bending of shoot of a plant towards

53.

light can be referred to as
(a) photonasty

(b) positive phototropism
(c) negative phot(;tropism

(d) photoperiodism

Epidermal cells of plant roots increase
their absorption surface by having

(a) Scales
(b) Root hairs
(c_j Endodermis

(d) Stomata

. Quartz is extensively used as a piezo-

electric material. It contains

~ (a) Hg

55.

(®) Si
(c) Ti

(d) Sn

Which one of the following is used for
water softening ?

(2) Mg(HCO;),

(b) Na;PO,

(c) NagPeOs

(d) Na2HP04

A — GHY-F-BST
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56.

i ¢

58.

afs U FomE X o wifeaw e &
Na,X 8, T S0 TegHif@m v &
T FT BT ?

() A% ..
(b) AlX;
(c) ALX,
(d) AlLX,
w foar a1t (3 areh g srderae

#, afe daia e wafs 533 090 %,
A IR T A () FT BRI ?

(a) 10-00
(b) 1-00
(c) 0-90

(d) 010

we sivaa g (Fea = fagia) &

HTER, I F foeg vy SuwnT a5 it

WU Bl ©
(a) HATHS

(b) HUITHS

() Y=

(d) =

GHY-F-BST - A
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59, frafoafas # @ < @1, & ==

dra (WrsE difernt) T SgreRr § 7

(a) R ¥ BaE FHAAT gRT wHIREA
e

(b) foege & e w ot Fima

(c) =T SeaTeat & T graw awda

g |

() T wER R Fafia g
Tl

60. TF FUTTEIT S AU IS GHTEAT

dma (dwmEs) | R, & dEw #

frefffmda s aorsmad & ?

(a) el gl =g =1 SeareA g F
forr srferaear 9t us a5 * g©
JTE Tl AR G (F AT
T)

(b) 9 TE dW@E F s@eA
sfegaear & foq & dimr stgan
wfcreie wEF ®

(c) sd=Een & fag a@ fomlt @&
aeg w s S TRl gEd
qEg & I B Tl far, W
qhdt ©

(d) THHT STTGA GATEAT HIATEsh Teh
FEENTTHT JEUET 95 ©

1. “‘Prasafiar fawe’” (I e

farge) & sEemon B R wm@= 2
(a) = o= |

(b) ks AIfe

(c) S ATE dg

(@) i T, &g



56. If formula of sodium salt of an anion

X is Na,X, then the formula of its
aluminium salt would be

(a) AIX
(b) AlX;
(C) A12X3

(d AlLX,

57. In a closed economy with no taxes,
if the marginal propensity to consume
is always 090, then the value of the
multiplier will be

(a) 10-00
(b) 1-00
(c) 0-90

(d 010

58. According to simple Keynesian theory,

" the slope of the aggregate consumption
curve against income is

(a) Positive
(b) Negative
(c) Zero

(d) Infinity

21

59. Which one of the following is an
example of a price ceiling ?

(a) Fares charged by Airlines in India
(b) Price printed on biscuit packets

(¢) Minimum support price for cane
growers

(d) Minimum wages fixed by state
Governments

60. Which one of the following statements
is true with regard to an economy
which is on its production possibility
frontier ?

(a) The economy has to sacrifice
some production of one commo-
dity in order to increase the
production of another commodity

(b) There is no limit or constraint for
the economy in the production of
goods and services

(c¢) The economy can produce more
of one commodity up to a point
without reducing the production
of any other commodity

(d) Its production possibility frontier
is an upward sloping curve
61. Who coined the concept of “Paradox
of Thrift” ?
(a) Adam Smith
(b) Alfred Marshall
(c) John Maynard Keynes

(d) Paul A. Samuelson

" A — GHY-F-BST
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62. frfefee & & o9 ¥ o sfifam 3 = fog T e w1 W@ W TE IW
TR & 941 & IRfYa, &fim sk iy : ’
yrtor 9t & o forar 2

(a) 1,233

sfefemm 186

roi g (b) Faer 132
(b) = srfafaw 1865

(c) Haa2 3R 3
(c) T ftfaw 1866 Sie g

d 133
(d)a_ﬁraiférﬁmlsvs e

65. Ta WINT FT & ?
(a) Tofor wwemarfeat &t s
(b) SeesEl TwErETat $ sy

Gs.ﬁwﬁ-rﬁaaﬂzﬁﬁﬁwﬁwﬁﬁrq:
1. TS fee & wmaeT
2. I A Y T

3. SEl G I T (c) T Teerfiat i s

4. RAEH Feeh T (d) I g Hit "

ST W OWE FAGHE F g6 af gedt @ Prefi @ @ @
Preafifee 3 & v & 7 (aRermT-wa) 6 SR F T T D,
(@) 1,2,3,4 ‘ at

() 2,3,4,1 C (@) o st st e o

©) 3,4,1,2

(b) ¥ g AR siferes W SR

(c) gl # HIE wgema &l e

64. T 1905 & TWell A & ded # (d) sfra g et 3R sifdrr e B
Feffada s asmad € 2

1. semer ® =9 wedlw amafia feg 67. Frafefea # & @7 @1, o= < =g

@ 3,4,2,1

MY TR

2. SHefehdl H BT TS (a) g

3. Qe e RAARE g (b) 3T
& T A, fhg 95 & o A
S N N R - .
F 3 (@) s

GHY-F-BST-A 22



62. Which one of the following Forest

Acts divided forests of India into
reserved, protected and village forests ?

(a) Forest Act 1864
(b) Forest Act 1865
(c) Forest Act 1866
(d) Forest Act 1878

63. Consider the following events :

1. 'Foundation‘of the Ramakrishna
Mission

2. Foundation of the Arya Samaj
3. Foundation of the Brahmo Samaj

4. Foundation of the
Mandali

Paramhans

Which one of the following is the
correct chronological order of the
above ?

@ L2134
®) 2,3,4,1
© 3,4,1,2
@ 3,421

64. Which of the following are true in

the context of Swadeshi movement in
1905 ?

1. Massive demonstrations were held
in Bengal

2. Hartal was observed in Calcutta

3. The movement was initiated by
the moderates, but was taken over
by the revolutionary nationalists at
a later stage

23

65.
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Select the correct answer using the
code given below : . - :

(@ 1,2 and 3
(b) 1 and 2 only
(c) 2 and 3 only

(d) 1 and 3 only

What is Sant bhasha ?

(a) Language of the nirguna mystics

(b) Language of the ulatbansi mystics

(c) Language of the nirakar mystics

(d) Language of the saguna mystics

. If the equatorial plane of earth is NOT

inclined to its orbit, then
(a) duration of the year would be
longer

summer would be warmer

(b)
(©)

there would be no change of
seasons

(d)

winter would be longer

67. Which one of the following is NOT a

luminous object ?

~(a) Sun

(b) Electric lamp
(c) Candle

(d) Moon

A - GHY-F-BST
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68

69‘

70.

71.

.~ foft e @ wew & o o
g9 I Afad B far wmr ®, 9=
frle em T f&a vy & fog
Fftreraw oo e € ?

(a) 9T HehINT

(b) ST Rt

(c) e R

(d) e ey
frafafeaa & @ o7 & s oReew
eaf TG grT wefdfa At i S Fedt
?7?

(a) IEAA

(b) Uad+

(c) =afeaor

(d) gaor

FRS quitigd (IR wAHThR) #
frfea fogia @

(a) STamEY

(b) fawe=

(c) f@man

(d) -aTsasfterar

wRa & fraferfaa @ @ fem wou 0, =3
Tl a9 ATSBIEA & 3eria farTerad
SR § 7

(a) Tewm=e wew

(b) SR Wl

(c) ®ATeH

(d) STRIEsS

GHY-F-BST - A

T2

73.

74.

SO GUEHE  H ged W81 g
feafafga da s 2

(a) B
(b) BrFHTE
(c) Trerg
@ T

Trafafaa & @ =9 a1 ey sifteas

WRAE AT W B F I[ORAT § ?

(a) 20° N A&
(b) 22° N H&TYU
(c) 24°N FF&Yw
(d) 26° N &y
IR ¥ gftror it AR femerdt v Aty

() = wdl A feafafea F @
HTEE ?

(a) HRIGHRA, TG, &R, TR G,
firarfers

(b) WEM@, &R, YR YoITdl, FRIGRH,
firarfers

. (c) UR U, AR, HRIGRH, @e6d,

firarfers

(@) fmerfoss, SR, 9R goimer, e,
HITHIH

75. AFRE ©

(a) ST AR F T HE™T &
(b) wig it T HFH gaq

(c) YFEAENRIA &7 H TH Tl T
(d) wf&er sfiret & TR ST
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68.

When a beam of white light is allowed
to fall on a prism, the maximum
deviation of the emerging light occurs

- for

69.

70.

.

(a) red light
(b) violet light
(c) yellow light
(d) blue light

Which one of the following pheno-‘

mena CANNOT be exhibited by sound
waves ?

(a) Reflection
(b) Refraction
(c) Interference

(d) Polarisation

The principle involved in paper

chromatography is

(a) Absorption

(b) Partition

(c) Solubility

(d) Volatility

Which one of the following states of

India has the largest area under dense
evergreen forest cover ?

(a) Himachal Pradesh
(b) Arunachal Pradesh
(¢) Karnataka

(d) Uttarakhand

25

72.

73.

74.

15.

Which one of the following is the
- biggest Island of Japan archipelago ?

(a) Honshu

(b) Hokkaido

(c) Shikoku

(d) Kyushu .

Which one of the following latitudes

passes through maximum - Indian
states ?

(a) 20° N latitude
(b) 22° N latitude
(c) 24° N latitude
(d) 26° N latitude
Which one of the following is the

correct order of Himalayan ranges
from North to South ?

(a) Karakoram, Ladakh, Zaskar, Pir

Panjal, Siwalik

(b) Ladakh, Zaskar, Pir Panjal, Kara-

koram, Siwalik

(¢c) Pir Panjal, Zaskar, Karakoram,

Ladakh, Siwalik

Siwalik,  Zaskar,
Ladakh, Karakoram

(d Pir Panjal,

Sonoran is a
(a)
(®)
(©)
@

desert area of North America
seasonal wind of France
cash crop of Mediterranean region

tribe in South Affrica

A — GHY-F-BST
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76.

77.

78.

R R O T S
srafeaferat = wdt s foreforfea
JFmare ?

(a) WAR fi TR — T TASHEAL —
qTeh @ISl

(b) UTeh TASHEHET — HHK &l @Ier —
qTesh @ret

(c) U TeSHENT — UTeh @IYl—
AR it et

(d) % G — 9o m_

TR §i @t
ﬁﬂﬁﬂﬁﬂ?aﬁim@w" Wierehie &
W S fFaffa s e g 2
(a) AETIAIET HT GHAAT FAT

(b) "ig (fearss) fammmens st
&l wfearfea a=am

(c) AR Ra = &
(d) Sarg aRads &1 | FAT

uiw fe - wfm, gow, @itq, st
3R die € | oA e & g ¥ S
? afF Qe @ e © | Aifea R
= R | afta e ¥ A B dk
A Mg g R I F
e & w5 gu o # @8, a9 AW
mmaﬁw@m?

(a) stfim

(b) ®ed

(c) wfem

(d) Fome

GHY-F-BST - A
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79.

80.

afe M, N&T WE ®; B, N % WS ® sk
M, D &1 Wi &, a« Frafafea § @ <
waA v s dadi & 2

(a) N, BT WE®
(b) N, M1 9 §
(c) NNDHTHE R
(d M,B&TAER
ft fafire s ¥ GAMBLE @

FBLCKF & &9 ¥ e wig for sman & |
St @ Wt ¥ FLOWER =1

| WE e 9g R wmm 2

81.

82.

(a) GMPVDS
(b) GKPVFQ
() EMNXDS
(d) EMNTDS

W ¥, Rk RAWE, R A
& Fo &1 # Ty € ok S B war
w1 % | faww o @ gy |

(a) Friendship

(b) Intimacy

(c) Attachment

(d) Enmity

ferelt wEm @ weat W 53 &) ww
T 6 57% FT BRI ?

(a) 13674
(b) 149-46
(c) 181-26
(d) 197-16
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76.

77.

78.

Which one of the following is the
correct sequence of the positions in the
Bay of Bengal from North to South ?
(2) Guilf of Mannar — Palk Strait —
Palk Bay

Palk Strait — Gulf of Mannar —
Palk Bay

(b)

(c) Palk Strait — Palk Bay — Gulf of
Mannar :

(d) Palk Bay — Palk Strait — Gulf of
Mannar

Which one of the following is the main
objective of Vienna Convention and
Montreal Protocol ?

(a) Combat desertification

(b) Formulate sustainable develop-
mental goals

(c) Protection of ozone layer

(d) Combat climate change

There are five friends — Sachin, Kunal,
Mohit, Amit and Sohan. Sachin is
shorter than Kunal but taller than
Sohan. Mohit is the tallest. Amit is
little shorter than Kunal and little taller
than Sachin. If they stand in the order

of increasing heights, who will be the
third ?

(@) Amit
(b) Sohan
(). Bileits
(@) Kunal

27

79.

80.

81.

If M is brother of N, B is brother of N'
and M is brother of D, then which one
of the following statements is definitely
true ?

(a) N is brother of B

(b) N is brother of M
(c) N is brother of D
(d) M is brother of B
If in a certain language GAMBLE is

coded as FBLCKF, how is FLOWER
coded in that language ?

(a) GMPVDS
(b) GKPVFQ
(c) EMNXDS
(d) EMNTDS

In this item, four words have been

~ given, out of which three are alike in

some manner and the fourth one is
different. Choose the odd one out.

(a) Friendship
(b) Intimacy

" (¢) Attachment.

82.

(d) Enmity

One-sixth of a number is 53. What will
be 57% of that number ?

(a) 136:74

(b) 149-46

(c) 181-26

(@ 19716

A — GHY-F-BST
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' ss.#ﬁﬁwﬁﬁaaaahraﬁ 200% sigr fear

85.

(d)
. FEE T vE fadwan, Feafafea

AT ® 3R W 300% =er far smar

3, o wRomh Bt 5 ¥ 1 T frw
qt ? -

(2)
(b)
(c)

Sl Sk Sk Sl

Ayt adi & ?

(a) &R faffaa veufal & eaf #
Bt ®

(b) Trafam & Suficar B9 = afer
wffia () Sar @

(c) =ERIRG dR W @ Tq&h H
HAGH A 1 AR BT §
(d) T § @ afafs odft ® ok
AT A T R A W

aftrrR g

g -ftge it oo #§ feafafea 3

AT E AT @ ?

(a) WRd &R gR R fodr g
ettt forctar R & Ty # s &
wMnea

b) ¥Ra @ dfm PR ¥ a1 @
FETE ()

(c) T 117 N Veelt F IFER
w15 o fadaes

(d) g & dha ffr & g7 =
fafermm

GHY-F-BST - A
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86.

87.

88.

‘W e R B FR w AR
FTE FAT BF A @ & TR
T |uY ST g, wRa & Wl
& frafafaa & & e siv =1 swEy
g7

(a) T=T i iy & Frevs o

(b) e Fled

(c) 7ot AfaR

(d) =i

feafafeas & @ = & @
(siftremfht) e sl W

(d) =% = fafts dar afafy

“atew sifenfet’’ (Rftesw) &
oy ¥ fafafaa # @ 99 @1/ ==
T R/E?

1. = fowm ? f5 gt ® A9
quTSl gEE AT wA h g
I Hrett & Y de @aTE €9
LR '

2. ¥ g& vmaEr fFaaw & 7 aa
g

3. 3 FW SIERT IGE IR HH e
JATGH SaYell R o o &

2 3 ™ = = W\ | w6 S®

g

(a) e

(b) Fae 2

(c) 1,23R3

(d) Faa23R3 .



increased by 200% and the deno-
minator is increased by 300%, the

resultant fraction is 1—?’. What was the
original fraction ?

@ ¥
®) 4
© £
@ B

" 84. Which one among the following is

NOT the central feature of Polyarchy ?
(3

Covitiinielt. gy e - Bl oF
elected officials

(b)
()

Right to run for office is restricted

Practically all adults have the
right to vote

(d)

There is free expression and a
right to criticize and protest

| 85. Which one of the following does NOT

fall under the definition of the Money
Bill ?

(a) Amendment of law with respect to
any financial obligations under-

taken by the Government of India

(b) The payment of money into the

Consolidated Fund of India

Any financial bill as per require-
ments of Article 117

d

Appropriation of money out of the
Consolidated Fund of India

83. If the numerator of a fraction is |

29

86.

87.
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“To cherish and follow the noble ideas
which inspired our national struggle
for freedom” is a provision of which
one of the following of the Constitu-
tion of India ?

(a) Directive principles of the state
policy

(b) Fundamental duties

(c) Fundamental rights

(d) Preamble

Which one of the following authorities
CANNOT organize ‘Lok Adalats’ ?

(a)
(b)
(©)
d

Panchayat Committees

Taluk Legal Services Committee
District Authority

High Court Legal Services Com-
mittee

Which of the following statement(s)
is/are correct in respect of the
‘ecoradicals’ ?

1. They believe that human societies
on earth are moving dangerously
closer to the limits of the earth’s

carrying capacity

2. They call for strict population
control

3. They stress for less consumption-

oriented and waste-producing way
~of life

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(c) 1,2 and 3
(d) 2 and 3 only

A — GHY-F-BST




89. w1 T\l & WR A frafofea # @

A FGT TS € ?

1. o Jewd fog @A™ # gER &
tan

2. 9 WeRy ¥ snuia o1

3. O fava TehveRare ¥ o1

4. A T WA W qgd wlaa
femar =

= 2 W Fe w1 WER W S

I

(a) Hhae 132

(b) Faw 2 3K 3

(c) 1,233

(d) 134

90. s TEaTiEt ¥ 1892 % FRR

e (sfufam) = fere st fopam ar 2

(a) aﬁﬁwq&w%mﬁm'

oG ot S ot .

(b) W uitwgl & weel 6t g e
KRR

(c) uRwgl & arffe ave | w=f &=
&1 fteR ¢ fear @ a |

(d) 3@ TR 7 gEwHEs SNl W)
Rt @ e €t fear @

91. aTged SEEd BSh Wl sfoeE H i

ST STTaT o7 ?

(a) 1857 & fae & <= s=l
fafestt (en1) & faars oo
|ord o g o A,

(b) ¥ mehars Hed & S A

(c) 1870 & TU&F H S=A W &

faoms w ave fge w1 AgE
fepam

(d) ¥ WRAT T FAF & ThH AR
qRad=aret 4ar 4

GHY-F-BST - A
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92.

93.

94.

https://sarkarinaukrieasyalert.com/

Frafafea i T =t FeTEElE
w9 ¥ aferd HIfvg (IRY ¥ IF w9
TQ) :

1. ¥ fean waifioym

2. GAT ATESA{h WH

3. A HES[ 89491

4, S WEEH wEfoym

= Ry T He W TN W A SR

gfi

(@ 1,2,3,4

(b) 1,3,2,4

() 2,3,4,1

@ 3,2,1,4

TR (ATEAER) Eﬁtﬁ‘mnarﬁm

w1 wftrg ot ?

(a) ¥ TFI gAY Fheat of

(b) ¥ T A e &

(c) ¥ = whE i o |

(d) ¥ A wify =Een & faems
fegie @ o

e @ ges® (HDI) AW &
IER, FEE A W w G
e fefefga dasm @ ?

(a) RS, 79, e, fegwrde
(b) =, fergods, sefemn, smaeds
() 7, seforan, st fergete
() feresrete, smawefe, 1, sefm



89. Which of the following statements

about Prarthana Samaj are correct ?

1. Its aim was to reform the Hindu
society >

2. It was based in Maharashtra
3. It believed in monotheism

4. It had greatly influenced the
Brahmo Samaj

Select the correct answer using the
code given below :

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1,2 and 3
(d) 1 and 4

90. Why did the early nationalists oppose

the Council Act of 1892 ?

(a) The number of members of the
Imperial Legislative Council was
increased

The number of members of
Provincial Councils was increased

(b)

The Councils were given the right
to discuss the annual budgets

The Act did not give the Indians
control over the public funds

(©)

()

91. Why was Vasudeo Balwant Phadke

known in history ?

(a) He led a violent struggle against
the British during the revolt of
1857

He was a critic of Gandhian
struggle

(b)
(c) He led an armed uprising against
the British in the 1870s

He was a radical leader of the
Indian National Congress

(d)

31
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93.
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Arrange the establishment of the
following in a chronological order
(starting with the earliest) :

1. The East India Association
2. The Poona Sarvajanik Sabha
3. The Madras Mahajan Sabha

4. The Bombay Presidency Associa-
tion

Select the correct answer using the
code given below :

(@ 1,2,3,4
(b) 1,3,2,4
(c) 2,3,4,1
(d 3,2,1,4

Why was the Sittar poetry of Tayauma-
navar famous ?

(@)

The writings were nationalist
compositions

(®)
(©)

The writings were romantic epics

The writings were devotional
songs

(d)

The writings were protests against
the caste system

. Which one of the following is the

correct arrangement of the countries in
descending order according to Human
Development Index (HDI) value ?

(a) Ireland, Norway,  Australia,
Switzerland

(b) Norway, Switzerland, Australia,
Ireland

(c) Norway, Australia, Ireland,
Switzerland

(d) Switzerland, Ireland, Norway,

Australia

A - GHY-F-BST
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95,

96.

IOl JaHe! 99 S1E & & |

frfofRa A d s wfi s @ ?

(a) frgifee qema: 3w ©W

(b) SSr-AafyaTs &= qera: gl sk
gh-gd e #  smeRdE
Fequlf 99t a9 &1 &l BIg W

(c) AT srfienT sik St arreeforan

(d) S8 et qera: efror-afedh
I

2rergH €

1. WERGEE WG Hed

2. 99 91 3R TR TET

3. gEET =reEr

4. safeafa sk fear (afemorn) =t
# uftadasfier

i R U Fe @1 WA W ' SW

gfa

() 1,234

" (b) a2 3R 3

97

(c) 133
(d) 2,334
Tereft viftpa aftar gro wgm (amaftssa)

Sellgeh G o geeh & QIe] T=I9 W,
forg =9 & ST W@ ® ?

(a) =me] At
(b) Sielte uwET
(c) sTeT@T
CVRERI

GHY-F-BST - A
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98, fFrafefem & & = @1, & wow-

99,

et A e w7

() Tt i

(b) =% =1t 3R feor e (3@ #R)
(c) ISyt fAgg

(d) raETg e

INSPIRE I WRd ®W&HR & T& IR
ved €, feraferg & 2

(a) fomm sk sgEam™ *g Wi =
FTeftd oA & forg

(b) Wiy (Wiemed) & mem @
FEeT SHfa & fog

(© R S&T wERd %

HTEHT ! FgrET 7 % fog

(d) FgEEE & I9YTH (ATT) &AT H
IUTEgTh SR & SgHT

100. T wien P A g 150 yH & A A

qeel 90 VAT & 40% I el 7 el S
fear & | afe doof wen # S 60% i
W &4 B df A9 60 WAl & fohan
TRV &1 IR S BH-3leh AT BRI ?

(a) 75

(b) 80

(c) 85

(d) 90
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9s.

96.

97.

Which one of the following does NOT
fall in the areas of tropical deciduous
forest biomes ?

(a) The Neotropics mainly West
Indies

(b) Indo-Malaysian zone mainly in
south and south-east Asia except

equatorial evergreen rainforest
areas

(c) Eastern Africa and northern
Australia

(d) North America mainly South-west
America
Doldrum are
1. equatorial calms
2. calm and light winds
3. roaring forties
4

. variable both in position and in
extent

Select the correct answer using the
code given below :

(a) 1,2 and 4
(b) 2 and 3 only

(c) 1and3

@) 2, 3 and 4

The gently sloping accumulation of
coarse alluvium deposits by a braided
stream is known as

(a) sand bar
(b) alluvial fan
(c) bajada

(d) diaras

33

98. Which one of the following is NOT a

palaeoclimatic geological indicator ?
(a) Lacustrine deposits

(b) Ice sheets and ice cores

(c) Evapoﬁte deposits

(d) Sedimentary deposits

99. INSPIRE is an ongoing initiative of

Government of India for

(a) attraction of talent for science and
research

(b) research advancement
nurturing

through

(c) promoting research among various
S & T stakeholders

(d) augmenting quality manpower in
niche areas of research

* 100. In a test consisting of 150 questions,

Neha answered 40% of the first 90
questions correctly. What per cent of
the 60 questions does she need to
answer correctly for her score in the
entire test to be 60% ?

@ 75
(b) 80
(c) 85
(d 90

A — GHY-F-BST
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101.

102.

103.

104.

TS I @ 2700 ®@ # FH | TH
s & 10% H & et R | Al 7@

€ 9%g W 3600 € H o, o A

a1 foraer wfaera & ?
(a) 15
(b) 18
(c) 20
(d 25

it BCYX, EFVU, HISR, KLPO, ........
T 3TN 9 T BRI ?

(a) NOML
(b) NOLM
(c) ONML
(d) ONLM

Ig gaaH quits, & 2940 & N A
R TH I a0 99 T, TR 7

() 10

(b) 15

) 20

@) 35

o A s A Rt dEn ¥ st @
g # wgw fear Wi § o wem W
WA 27 &G SaT § | UE o 3Rt arent
AT F AN

(a) 235

(b) 249

(c) 213

(d) 180

GHY-F-BST - A

105.

106.

107.

afg 5472=9, 6342=6 3R 7584 =6
®, 99 9236 T ® ?

(a) 2

(b) 3

(c) 4

@ 5

o s & s e & w9 # fgw
fra s & forg fomeht =afer g s
e fforfaa # & = @ € 2

1. SSUOH ATEE 6 IS FEE
e It w9 A fges o s &
fore siféa = =afs

2. w% =fs Fd fflm s sk
YNTET § 9H FHE B

3. @& =t B sdfuyre = fafye

9 i T g oW W wE SW
3fea

(a) 1,233

(b) Hhad 1 3R 2

(c) a2 3R 3

(d) Sae 133

fraafafaa # & fra d@ifias 3 won w=
foe 9 3R TRE F SEIgATE &
TR | a1 §f ?

(a) S =T

(b) aATHEA

(c) & HeTad

(d) T &l FeAEd
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101.

102.

103.

104.

By selling an article for ¥ 2700, a man
loses 10%. If he sells it for ¥ 3600, his
gain per cent is

@ 15
(b) 18
© 20
@ 25

The next term of the series BCYX,
EFVU, HISR, KLPO,

(a) NOML

(b) NOLM

(c) ONML

(d) ONLM

The least integer when muitiplied by
2940 becomes a perfect square is

(ay 10

(®) 15

(c) 20

(d) 35

When the digits of two-digit numbers
are reversed, the number increases by

27, the sum of such two-digit numbers
is :

(a) 235
(b) 249
(c) 213
(d) 180

35

105.

106.

107.

If 5472=9, 6342=6 and 7584 =6,
then what is 9236 ?

(a) 2
(®) 3
(c) 4
@ 5
Which o'f the following are the
essential requirements for a person to

be appointed as a member of Finance
Commission ?

1. A Supreme Court judge or one
qualified to be appointed as such

2. A person having wide experience
in financial matters and adminis-
tration _

3. A person having special know-
ledge of economics

Select the correct. answer using the
code given below :

(@ 1,2 and 3

(b) 1 and 2 only

(c) 2 and 3 only

(d) 1 and 3 only

Which one of the following musicians

served at the courts of Raja Man Singh
Tomar and Bahadur Shah of Gujarat ?

(a) Baiju Bawra

(b) Tansen

(c) Lal Kalawant

(d) Rang Khan Kalawant

A — GHY-F-BST
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108. g9 T wEH-IA-AESE H G (c) R SHBHeH : ot S, foeen

& 91 ? . qret
(d) 9 |fer® : T, T T

(a) S T 3 gorat ’ i |

(b) Hisgee vt m.fffes & 3 s @, sl
(3riafer) wet o W wRar § ?

- (¢) Y@ FromdE sitfern (a) & 3R gzt & < & W

(b) g 3R goi (W wgw) &

(@ R gad Fge ¥ A ¥ e |

' oy (c) g=ht & foere & w1

109. frafofea & ¥ forg 1924 § AR

S weA AR 3 S g o 7 (@) %9 IR F 7

112. Gt 1 & I & wrg gafea $ifm

(a) AIFR IEHS, TH. T M, Ma IR gt & A Ry g 3¢ = W
BWFﬁ,FIﬁ-FﬁﬂHT ‘ aﬁaﬁwgﬁq :
List I List II
(b) TE=TR el 3R Yieha SEATL (s1-wrrer ) (wT<w)
(c) TH. U. 34 3R wa. 1. " s L
B. 2HEE! 2. fowmg frafia
(d) TR 7EG IR . . o - cowse AR 3 9@ fidfe
‘ (forrdf Qftrar) 4. @z et
110. Tt 3R 3% wemE ¥ Prafafea D. W7 (fee)
e forae - o R e
(a) A M : O SRR a9y ,
He TH, AR, FqFH T
gy 3 a4y
(b) SHEA-IA  : HiEHT TeHEd )2 .3 4 1
a-U-fes v e i o S S (S

GHY-F-BST - A 36
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108.

109.

110.

The Sufi work Kashf-ul-Mahjub was
written by

(a) Abu’l Hasan al Hujwiri

(b) Moinuddin Chishti
(c) Shaikh Nizamuddin Auliya

(d) Amir Khusrau

Who among the following were jailed
in the Kanpur Bolshevik conspiracy
case in 1924 ? '

(a) Muzaffar Ahmad, S. A.Dange,

Shaukat Usmani, Nalini Gupta

(b) Muhammad Ali and Shaukat

Usmani
(c) S.A. Dange and S. V. Ghate

Muzaffar Ahmad and S.S.
Mirajkar

(d)

Which one of the following pairs of
organization and their founders is NOT
correctly matched ?

(a) National - : Tej Bahadur
Liberation Sapru and
Federation M. R. Jayakar

(b) Jamiat-ul ; Maulana
Ulama-i Hind Mahmudal

Hasan
Shaikh-ul-Hind

37

111.

112.

(c)

(c) Congress : B. G. Tilak
Democratic
Party

(d) Congress : M.N.Roy
Socialist Party

Which one of the following represents
the inner planets ?

(a) Planets between the sun and the

earth

Planets between the sun and the
belt of asteroids

(b)

Planets near the earth

(d) Planets around the sun
Match List I with List IT and select the

correct answer using the code given
below the Lists :

List I List II
(Landform) (Agent)
A.Loess 1. Wind deposited
B. Tombolo 2. Glacier deposited
C. Point bars ' 3. River deposited
D.Moraines 4. Sea deposited
Code :
A'B. C D
)Lk 3
(1230 4 22
i e i TRk SR

d 2 4.3 1

A — GHY-F-BST
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113, T 1 o 113 g R o g % AR Ry e v ol v

ELE
List I
(73Y)
A. UR
B. ¥
~C. @l
D. Fem
| :
(a)
(b)
(c)
(d)
114. 3 2[3]4=143R 3[4] 6=60 §, &
4[517="1
(a) 72
(b) 84
(c) 96
- (d) 108

GHY-F-BST - A

A
2
1
2
1

HG VSRS N - - |

List II
(e # f&fd)

-

o i

Wb A WweA

Nl—an—lc

115. frfafea Soft — fer it :

38

1,9,17,33,49,73, ...
frafafea & @ qu wen =it vewrfrg
(@) 99 '

(b) 97
() 95

(d 91
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113. Match List I with List II and select the correct answer using the code given below the

Lists : :
List I List II
(River) (Location in map)
A. Penner
B. Vaigai ’
C. Cauvery
D. Krishna
Code
A B C D
(a) 2 4 3 1
(b) 1 3 4 2
(c) 2 3 4 1
(d) 1 4 3 2
114. If 2 [3] 4=14 and 3 [4] 6 =60, then 115. Consider the following series :
4[5]17="? 1,9, 17, 33,749,173, %
‘ Identify the missing number from the
(@) 72 following :
(b) 84 (a) 99
(b) 97
96
© (©) 95
(@) 108 d) 91

39 A — GHY-F-BST



116. Fraferfaa smepfar w o Hifg

? 1

f

L R

A qF T T # ¥ W G U
oS
(a) 12
(b) 16
(c) 32
d) 48
117. feafofes & @ 99 & F9 194
qIaTsel o 3 7 sifered # sy i wH
Tl dad g ?
1. =T sl & A= 3@ S
HSTe[d STUR AT
2. 7@ ‘ufg sran Ty yfgawor
& yEATa hit
3. I §AS § wemwiRigl & Age
TS IR dAnga A fean
weTf=Terdl & U Faen g
3
4, S QAT I AT H ATH GHIS
ol &9 ¥
A o T g W o R R S
- gf
(a) Sad 1 3R 2
(b) 1,233
(c) Faw 3 3R 4
(d) 1,334

GHY-F-BST - A
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118. HgTcHT el & “@mwe & SR H
frafafea & @ 99 @/ =99 o
R/R?

1. gfawr snfre # weEe % Raems
ST T s e % ke @
e ¥ I TERE S SN
foram &

2. TOWE & QI Aedyul €UeH o

- a3k C‘afear’

3. FOFEl S 1 RRg @E w
FE YA A © A o it
F FE TEAE

4. RG #, GANE H TEWEH VAN
Tiefisft ¥ soroer 7 fear

9 Ru T Fe =1 W | wE W
fer

(a) &9 1 3R 4

(b) a2

(c) Fad 4

@ 1,2,33R4

119. FrETeA! ¥ et Freffy w9 w
ﬁ?ﬂfﬁl’&m:

1. §IqaTed AEE AGAHT § qgE
ST '

2. araaTedt = e w1 SR
arTa: fugaEsia o

ST # | D 91/ I a8 8 /% ?

(a) wae 1

(b) e 2

(c) 1323t

(d AL, AE2
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116.

117.

Consider the following figure :

Find out the missing number from
among the following :

(a) 12
(b) 16
(&) 32
(d) 48
Which of the follcﬂ)wing statements

about the Arya Samaj which emerged
in the late 19th century are correct ?

1. Had a very strong support base
amongst the trading castes

2. Introduced ‘shuddhi’ or mass puri-
fication

3. The moderates in the Arya Samaj
were headed by Hans Raj and
Lajpat Rai and set up a chain of
Dayanand Anglo-Vedic colleges

4. The Arya Samaj had fewer
members than the Brahmo Samaj

Select the correct answer using the
code given below :

(a) 1 and 2 only
(b) 1,2 and 3
(c) 3 and 4 only
(d) 1,3 and 4

41

118.

119.

Which among the following statements
about Mahatma Gandhi’s Satyagraha
is/are correct ?

1. It was during the course of his
campaign against racialism in
South Africa that Gandhiji first
applied Satyagraha

2. The two vital ingredients of
Satyagraha are ‘truth’ and ‘non- -
“violence’

3. The Satyagrahi resists evil by
inflicting suffering on himself and
not by inflicting suffering on the
opponent

4. In India, Satyagraha was first tried
- by Gandhiji in Champaran

Select the correct answer using the
code given below :

(a) 1 and 4 only

(b) 2 only

(c) 4 only

@ 1,2, 3 and 4

Consider the following statements
pertaining to the Satavahanas :

1. Satavahana rulers were identified
through metronymics

2. Satavahana succession to the
throne was generally patrilineal

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A — GHY-F-BST
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120.

121.

122.

o 1A 1 F e giRa S
o gfet & B Re T g W
T TE S g ¢

List IT
(7=t #

b |
(frfemw

()
()]

ot = & faffa 371 18 =t wrea &
g1 frmfofen # & @ &1 @ T fean
TR ?

(2) THEWR TFOE
(b) W% RS O
(c) =T THHE

(@ e

T @9 9 wEEA (NCAP) a¥
2024 9% ARG S Q& 102 TR A

W b AW P
—_ N = N

N o= N~ M

D
4
3
-
4

- iR e (ufdageie #e) 9t 20%

A 30% T FH I H AT Q@A § |
wigur 6t o & forg smaR af v @ 2

GHY-F-BST - A
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123.

124.

125.

(a) 2015
(b) 2016
(c) 2017
(d) 2018
AR A & fafafea # @ e

TS SWNfh &he 9 @ wE 2019 ¥
¥ar 7o (feefivie) fomar w2

(a) INS Tum

(b) INS UrsHT

(c) INS T=Id

(d) INS faeRers

AR 9 &1 3 Bt & § AH-64E (I) —

aryr e e W fear #
7% Rfererer et fafifa gom @ 2

(a) ST
(b) &4
(c) W™

(d) USA

‘Searg s ft AN KA arer

- veen <y Feafofea # @ @ aran 2

(a) wtew
(b) “gsitete
(c¢) UK
(d) A
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120. Match List I with List II and select the (a) 2015
correct answer using the code given
below the Lists : (b) 2016
List I List T (c) 2017
(Border of (Location
Sikkim) in map) (d) 2018
A. Nepal :
123. Which one of the following frontline
: destroyer of Indian Navy was decom-
B. Bhutan missioned in May 2019 ?
C. China (83 54 Fatia
(b) INS Ranjit

D. West Bengal
Siadingn = (c) INS Rajput

P (d) INS Sindhurakshak
A PP
(@ 3 S 124. The Indian Air Force has recently
acquired the AH-64E (I) — Apache
(b) 4 1 2 3 Guardian helicopter. The helicopter is
1 e S e S made in
d 3 1 2 (a) India
121. Which one of the following is the (b) Russia
name given by Indian Railways to the (©) France

indigenously manufactured Train 18 7
(a) Humsafar Express (d) USA

(b) Vande Bharat Express :
125. Which one among the following was

(c) Ananya Express the first country to declare ‘Climate

(d) Gatimaan Express Emergency’ 7

; ) (a) Sweden
122. The National Clean Air Programme
(NCAP) aims to reduce particulate ' (b) New Zealand
matter (PM) in at least 102 cities of i
India by 20% — 30% by 2024. The base (c) UK
year for the comparison of concentra-

tion is (d) Ireland
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- DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : GHY-F-BST Test Booklet Series

TEST BOOKLET

GENERAL ABILITY AND
INTELLIGENCE

Time Allowed : Two Hours Maximum Marks : 250

INSTRUCTIONS

IMMEDIATELY AF'I'ER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST

BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and
Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the
Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test
Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet.

This Test Booklet contains 125 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to
mark on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.
You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your

- Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Inwg]lator only the Answer Sheet. You are permitted to take
away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong Answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which
‘a wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one
of the given answers happens to be correct and there will be same penalty as above to that
question.

(i) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.
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